
 
Shotton Hall Primary School                             

Working together to 

S H I N E 

Successful, Happy, Inspired and Nurtured towards Excellence 
 

Wednesday 20th May - Answers 

Maths  
 

          
 
                                      

Answers 
 
Q1 
Dora is incorrect.  
The note is £5 or 500p.  
The coins are 50P + 20p + 20p + 20P + 10p + 10p = 130p  
In total Dora has 500p + 130p = 630p. 630p is the same as £6.30 
Dora has more than £6 
 
Q2 
A car and two apples would cost 335p + 85p + 85p = 505p.  
Rosie does not have enough money for a car and two apples.  
 
There could be a few possible answers for items Rosie could buy with her money. Ask a 
grown up to check these for you.   
English – Apostrophes  
 
In Monday’s task we looked at how to use apostrophes to show possession. Apostrophes 
are also used to combine words (contractions), Follow the BBC Bitesize videos and 
activities to practise this skill. The worksheet has also been uploaded as supporting 
documents.  
 
https://www.bbc.co.uk/bitesize/articles/z4p2mfr 
 

https://www.bbc.co.uk/bitesize/articles/z4p2mfr


Answers – The answers to this task are on the BBC Bitesize site.  
 
 

Foundations Subject – History 
 
Anglo Saxon Art and Craft 
 
The Anglo-Saxons were highly skilled craftsmen and women who created jewellery, 
ceramics, sculptures and wall paintings. A number of these relics have been found at 
archaeological sites.  Look at the powerpoint I have uploaded about Anglo-Saxon art and 
choose a piece of art to recreate.  You could draw a picture of an Anglo-Saxon engraving 
or a tapestry, or you could use craft materials to make an Anglo-Saxon item such as a 
buckle or brooch.  
 
There are more photographs of Anglo-Saxon relics on this website: 
 
https://www.ashmolean.org/learning-resource-anglo-saxons#widget-id-191746 
 

Answers 
I hope you enjoyed creating Anglo-Saxon art and crafts. 
 

 

https://www.ashmolean.org/learning-resource-anglo-saxons#widget-id-191746

